NetToolsTaskRun

<?xml version="1.0" encoding="UTF-8"?>
<zulu-server service='zws' version='1.0.0'>
<Command>
<NetToolsTaskRun>
<Layer>drain:drain</Layer>
<Model>drain</Model>
<Task>1</Task>
<Settings>
<Sources>28</Sources>
</Settings>
</NetToolsTaskRun>
</Command>
</zulu-server>

<?xml version="1.0" encoding="UTF-8"?>
<zwsResponse>
<NetToolsTaskRun>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
</NetToolsTaskRun>
<RetVal>0</RetVal>
</zwsResponse>
  
Возвращает идентификатор задачи TaskHandle.


NetToolsTaskGetOutput

<?xml version="1.0" encoding="UTF-8"?>
<zulu-server service='zws' version='1.0.0'>
<Command>
<NetToolsTaskGetOutput>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
<LineNum>14</LineNum>
<MaxCount>10</MaxCount>
</NetToolsTaskGetOutput>
</Command>
</zulu-server>

<?xml version="1.0" encoding="UTF-8"?>
<zwsResponse>
<NetToolsTaskGetOutput>
<TaskHandle>
  A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7
</TaskHandle>
<Log>
<Line>--------- Расчет самотечной сети: ID=39 -----------------------------</Line>
<Line></Line>
<Line></Line>
<Line>Погрешность связности (%) .....         0.141</Line>
<Line></Line>
<Line>--------- Расчет самотечной сети: ID=43 -----------------------------</Line>
<Line></Line>
<Line></Line>
<Line>Погрешность связности (%) .....         0.129</Line>
<Line></Line>
</Log>
</NetToolsTaskGetOutput>
<RetVal>30</RetVal>
</zwsResponse>


NetToolsTaskGetStatus

<?xml version="1.0" encoding="UTF-8"?>
<zulu-server service='zws' version='1.0.0'>
<Command>
<NetToolsTaskGetStatus>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
</NetToolsTaskGetStatus>
</Command>
</zulu-server>

<?xml version="1.0" encoding="UTF-8"?>
<zwsResponse>
<NetToolsTaskGetStatus>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
<Status>finished</Status>
<NetToolsRetVal>0</NetToolsRetVal>
</NetToolsTaskGetStatus>
<RetVal>0</RetVal>
</zwsResponse>
  

NetToolsTaskStop

Прерывает расчет

<zulu-server service='zws' version='1.0.0'>
<Command>
<NetToolsTaskStop>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
</NetToolsTaskStop>
</Command>
</zulu-server>

<?xml version="1.0" encoding="UTF-8"?>
<zwsResponse>
<NetToolsTaskStop>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
</NetToolsTaskStop>
<RetVal>0</RetVal>
</zwsResponse>
  

NetToolsTaskGetErrors

<?xml version="1.0" encoding="UTF-8"?>
<zulu-server service='zws' version='1.0.0'>
<Command>
<NetToolsTaskGetErrors>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
</NetToolsTaskGetErrors>
</Command>
</zulu-server>

<?xml version="1.0" encoding="UTF-8"?>
<zwsResponse>
<NetToolsTaskGetErrors>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
<Errors>
<Count>0</Count>
</Errors>
</NetToolsTaskGetErrors>
<RetVal>0</RetVal>
</zwsResponse>
NetToolsTaskTerminate

Завершает задачу 

<?xml version="1.0" encoding="UTF-8"?>
<zulu-server service='zws' version='1.0.0'>
<Command>
<NetToolsTaskTerminate>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7</TaskHandle>
</NetToolsTaskTerminate>
</Command>
</zulu-server>

<?xml version="1.0" encoding="UTF-8"?>
<zwsResponse>
<NetToolsTaskTerminate>
<TaskHandle>A6E0BABE-A01D-4BAE-8EF3-3AA901B6BFD7
</TaskHandle>
</NetToolsTaskTerminate>
<RetVal>0</RetVal>
</zwsResponse>
  


